:3 993 n-88-113-2014

1 n"y

0 1 0
A=[0 0 1| ®on .9an 1.6
2 -5 4

[ DGIFNIG? DI4ED 5N LA YW OMNNYN O209YD NN NN LN

JA DV OYHnNYN 0ANINN AR RN A

.O»NNY O PR A= (i _11 ) €R272 ponvy NN 990 1.7

%Y DTINY Y3 AR 01OY 1A AN RN 111N NEMIVN (opn oot cen] L9030 1.9

70RNNDN PHEYN NOPIN NN A= 1 MIY TIY ¥ AZ NRI0H2Y NN .20 IR0 A RN .1 RN

NMNINNY NN .IRDYN A N¥I0NA 790 2V Npnynn TR~ F* R L AF?7 ROn .2%90 1.12
MpPY MRaAN
ARy T RrNNN) A DY ONNY Mo e LR

SN MRy T RN Ty YV N8y Moprv A



NIV AX™M0R -N719IN

970N NPWIVIVY™ AXTI0NE LNV NIRRT AW T, A =0A 47 #£0

JATOn MOINITN NN AcFTT RN 940 1.15
7 A DV DMNIYN 02N 0NND LR

a=0 <= manal-A :((3) pssa icf) NN .3

T 19w .o(7) MMM 7T 20 0NuR9Ivn NNIRI 7 NMINDI? aghUn 20 0NsDn 0200 N¥1ap
AeF27 23N MV o(A) NR O 1aN

27900 §365 e .A(BA)u=(AB)Av :sN7] .0(AB)=0(BA) N2 .A,BSF"=" vip & .939n 1.18
[Av=0 p7PN2

[ DGIFNIGR D482 4N ] .o (A)=o(AL) N9 L AeF™ " NAn A



